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QUESTION 1

The CREATE PROCEDURE statement shown below was executed against a database called MYDB.
CREATE PROCEDURE myschema.proc1(INpl INTEGER, OUT p2 CHAR(4), OUT p3 SMALLINT)
BEGIN

SET p2 =\\'abc\\;

END

Which two CREATE PROCEDURE statements, when executed against the same database, will succeed? (Choose
two.)

A. CREATE PROCEDURE myschema.proc1(IN p1 CHAR(4), OUT p2 INTEGER) BEGIN SET p2 = 123; END

B. CREATE PROCEDURE myschema.proc1(IN p1 INTEGER, OUT p2 CHAR(4), OUT p3 CHAR(4)) BEGIN SET p2 =
\Wabc\\'; END

C. CREATE PROCEDURE myschema.proc1(IN pl CHAR(4), OUT p2 INTEGER, OUT p3 SMALLINT) BEGIN SET p2
= 123; END

D. CREATE PROCEDUREotherschema.proc1(IN p1 CHAR(4), OUT p2 CHAR(4), OUT p3 CHAR(4)) BEGIN SET p2 =
\\'abc\\'; END

E. CREATE PROCEDURE myschema.proc1(IN p1 NUMBER, OUT p2 NUMBER, OUT p3 NUMBER) BEGIN SET p2 =
\Wabc\\'; END

Correct Answer: AD

QUESTION 2

Which of the following statements is true for declared global temporary tables?

A. Declared global temporary table descriptions are stored in the system catalog

B. When a session terminates, all declared global temporary tables created in the session are dropped.
C. Declared global temporary tables are persistent and can be shared with multiple sessions.

D. Declared temporary tables support LONG VARCHAR columns.

Correct Answer: B

QUESTION 3
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Click the Exhibit button.

CREATE FUNCTION chec< id(p_id INTEGER)
RETURNS VARCHAR(70)
BEGIN ATOMIC

DECLARE v_err VARCHAR(7O);

SET v _err = 'Error: 1D ' || CHAR(p_id) || ' is not valid®

IF p_id =0 THEN
SET w_err = '‘Application Errar',
ELSEIF p_id = 0 THERM
ELSEIF p_id IS MULL THER
SIGrRAL SALSTATE '80000' SET
MESSAGE TEXT=v_err,
ELSE
SET w_err = “alid D',
RETURM NULL,
FMM IF;

RETU=Nv_grr,
END

Given the user-defined function shown in the exhibit, what will the function return if invoked using the statement shown
below? SELECT check_id(1) FROMSYSIBM.SYSDUMMY1

A. Error: ID 1 is not valid

B. Application Error

C. SQLSTATE 80000 will be returned, with the custom error message "Error: ID 1 is not valid"
D. NULL

Correct Answer: D

QUESTION 4

Which option is used when declaring a global temporary table that will keep its data across transaction boundaries?
A. ON ROLLBACK DELETE ROWS

B. ON ROLLBACK PRESERVE ROWS

C. ON COMMIT PRESERVE ROWS

D. ON COMMIT DELETE ROWS

Correct Answer: C
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QUESTION 5

In thegiven text below: What will be the value of the output variable BONUS?

CEEATE PROCEDURE calc_raise (IN rating INT, INOUT salary INT, OUT bonus INT)
BEGIN
CASE
WWHENM rating =— 1 AND rating = 2 THEM
SET SALARY = SALARY *1.10, BONUS = 1000,
YWHEN rating == 2 AND rating < 4 THEN
SET SALARY = SALARY *1.08, BONLS = 500,
ELSE
=ET SALARY = SALARY "1.03, BONUS =0,
END CASE;
END

If the following statement is executed fror the Command Line Processar

CALL calc_raise(2, 5000, 73

A. 500

B. 1000
C. 5200
D. 5500

Correct Answer: A
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